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0 was the Provisional President of the |
nstituent Assembly before Dr Rajendra |
asad took over ?

C. Rajagopalachari

Dr. B.R. Ambedkar

T.T. Krishnamachari

Dr. Sachchidananda Sinha

ith reference to the Government of India
t, 1935, consider the following statements :

It provided for the establishment of an
All India Federation based on the union
of the British Indian Provinces and
Princely States.

Defence and Foreign Affairs were kept

| under the control of the federal
legislature.

Which of the statements given above is/are

correct ?

(a) 1 only

(b) 2only

\v\wo:, 1and 2

(d) Neither 1 nor 2

g, Which one of the following is a work
. attributed to playwright Bhasa ?
Kavyalankara

Natyashastra ¥

(¢) Madhyama-vyayoga

\l\ngv}bmkwé

mwbmw—w_uwcz. an Indian Buddhist monk, who
4. velled to China at the end of the
MM“-AU century AD, was the author of a

(a)
(b)

ooanbmﬂg on:
) NB\.SEE.E‘:.E Sutra ™
(€:2
- Visuddhimagga
. \
A& Sarvastivada Vinaya Aﬂri ®
< Lalitavistara
GSPO =

PO

15.

Consider the following properties included

i the World Heritage List released by
UNESCO :

1. m_:.:::znms:\

I

3.  Sacred Ensembles of the Hoysalas

2; Rani-ki-Vav

o

4. Mahabodhi Temple Complex at
Bodhgaya \o

How many of the above properties were

included in 2023 ?

(a) Only one

(b)  Only two

(¢)  Only three

\&\E:QE.

16. As per Article 368 of the Constitution of India,
the Parliament may amend any provision of
the Constitution by way of :

1. Addition ~ sed)™
3] Variation
3. Repeal )

Select the correct answer using the code give

below : »
(a) 1and 2only
(b) 2 and 3 only

(¢)  1and 3 only

\ka\m.wnbaw

D)




llowing countries :

7.  Consider the fo
\»\ aly
\m\,—,%ma

3.  Nigeni
4.  South Kored
5. South Africa

h of the above countries are frequently

edia for their low birth

Whic
mentioned in the m
rates, or Aageing population or declini

)

vov:—m:vc..
\\\H.usnm.ﬁ

(b) 1.3and5 K

(¢! 2and4onlyq

(dl 3and5only «

8. Which of the following statements are correct
In respect of a Money Bill in the Parliament ?

)
f L »E_n_m@gaosm special procedure

in respect of Money Bills.
A Money Bill shall not be introduced in

\\5 Council of States.

The Rajya Sabha can either approve the

Bill
:. Or suggest changes but cannot reject

Amendments ¢, a Money Bill suggested

b :
rv. the Rajya Sabha have to be accepted
¥ the Lok Sabha, .

(9

19.  Which

20. The

of  the
matched iy terms

?__aim:w is/are tly
of equivalent rank in the

” Qe ¥
‘::. services of Indian Defence forces ?

»WE:.«. Airforee .ZBCQ\|\_
L. |Brigadier  Ajr ,ayas’gmi
. \Commodore
2 [Major  [AirViee [Vie g |
r Vie i i
N e ity wm_ Vice Admiral
= — e ———
3. |Major Squadron |Lieutenant
Leader Commander
4. |Lieutenant Group |
Colonel Captain

Select the correct answer using the code given
below :

\3\HE.=:

(b) land3
(¢) 2,3and4
(d) 3only

North Eastern Council (NEC) was
established by the North Eastern Council Act,
1971. Subsequent to the amendment of NEC
Act in 2002, the Council comprises which of
the following members ?

1.  Governor of the Constituent State

Chief Minister of the Constituent State v'

»

2.

3. Three Members to be nominated by the
President of India

4 The Home Minister of India A

Select the correct answer using the code given

below :

(a) 1,2and3only ¥
) 1,3and4only ¥

\Aﬂn 4 only

d 1,2,3andd4 R

-D)



.

-~y

onsider the following statements regarding
: :Nan Shakti Vandan Adhiniyam':

L Provisions will come into effect from the

18 Lok Sabha.
F 2. This will be in force forars after
becoming an Act. N

There are provisions for the reservation
of seats for Scheduled Castes Women
within the quota reserved for the
Scheduled Castes.

Which of the statements given above are
correct ?

1,2and3 »
1and 2only K
2 and 3 only ®

1 and 3 only

Which of the following statements about
“Exercise Mitra Shakti-2023’ are correct ?

This was a joint military exercise
between India and Bangladeshyg

It commenced in Aundh (Pune).

Joint response during counter-terrorism
operations was a goal of this operation.

Indian Air Force was a part of this
exercise.

jlect the answer using the code given below :
- 1,2and 3

5 the
A Writ of Prohibition is an order ijssued by

Supreme Court or High Courts to

- . - .m
(a) a government officer prohibiting hi

from taking a particular action. r

(b) the Parliament/Legislative Assembly t0

pass a law on Prohibition. *

the lower court prohibiting continuation

of proceedings in a case.

(c)

the Government prohibiting it from
following an unconstitutional policy.

24. Consider the following statements :

1. It is the Goveggor of the State who
recognizes and declares any community
of that State as a Scheduled Tribe.

/A community declared as a Scheq led
’l‘ribeinaStateueeduotbesoin
another State.

Which of the statements given above

correct ? 18/are

(a) 1 only

)"/2 only

() Both 1and 2

(d)  Neither 1 nor 2

(11-D)

el



|

With reference 1

Union Budget, consider the ' 28,

a.)J}.l?n the follow

: moﬁ»@ﬂ-o:»h - " .
?:oﬁ:ncs__% Finance Minister on behalf of * .nS: ment.]
1. The 1:.3-# Minister lays the Annual _.“._H_.”* «-,._?.__:s is a atrategic route for
w...awua;_ Statement before both the m:z.qx”. .:_VQ_ and natural gas shipments 0
in
e (1 nt ;
:ozm@.%_:._: -1 no demand for a grant Statement-11
t\ At the be 10 jo  except  on the Sumed .Evo::s connects the Red Sea with
e endation of the President of India. the Mediterranean Sea -
o tements given above is/are Which one of the following is correct 11
Which of the st respect of the above statements ?
correct ” (a) Both Statement-I and Statement-II ar®
(a) 1only correct and  Statement-[I  explain®
\v\ 2 only Statement-I
(c) mo%.u and 2 (b) Both Statement-I and Statement-IT are
3 i —_— | corfect, ‘but Statement-[I does nof
(@ Neither 170 eyplain Statement-I
Who of the following s the autbor of£he bogl® Statément-I is correct, but Statement-II
Q o
" o . Bharat Matters”? is incorrect
“The Jfdio Way and “Why
Bhupender Yadav (d) Statement-I is incorrect, but Statement-[I
upen i
is correct
(b) Nalin Mehta
¢/ Shashi Tharoor 29./ Consider the following statements :
. Subrahmanyam Jaishankar Y The Red Sea receives very little
o precipitation in any form. e

(1.~ der the following pairs :

i e SRR
Country Reason for being in the
news
7 Argentina  Worst economic crisis
|
— —t—
2. Sudan War between the country’s
regular army and
paramilitary forces
3. Turkey Rescinded its Ems_uw‘_drmv\ 30,
| | of NATO ’

How many of the pairs given above are
correctly matched 7

(a) _Puly one pair
) Only two pairs

(¢)  Allthree pairg
(d)  None of the pairs
c-P-GSPO

(13-D)

z @sns.. enters the Red Sea from

rivers. T
Which of the statements given above isare

correct 2
\A&

(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2

According to the Environmental Protection

Agency (EPA), which one of the ..o:oiwum. is
the largest source of sulphur  dioxide

emissions ?
(a)  Locomotives using fossil fuels
Ships using fossil fuels

(bh)
traction of metals from ores

(¢)
\Asmn plants using fossil fuels



in mggamsnm
s Consid® the follo™? g
1. o
A erica (USA) were to
.mBREE:. gtates of A
o the UG geb: holders of US Trennicy
default ﬂ _“a pe able t© exercise their ¢ aims
NQHMM payment: ¥
rnaz.s.sl,N ament m%o is not backed by
o\ Govern®er' 1 by the faith of the

0046_‘53@3 ) i
Jlowing is correc in
g ne of the fo g
Mw:umra Mﬁ the above mzzmam:rn ?
Both wSSBQE-_ and mgam::u:n-: are

o correct and mSSBmsn-E explains
mSSBmE-_

(b) Both wBSBgi and mga@amnn-ﬂ are
correct, but mSSBga-ﬂ does not explain
wSEEE;

(c) Statement-lis correct, but mﬁ«oﬁaﬂ?ﬂ is
incorrect

\m\mﬁSBQB._ is incorrect, but mSSBwB?E
is correct
g3. Consider the fullowing statements :

I\MEQSQEL..
MWWWHWMQLQE spreads the risk of
ult across multiple lenders.

Statement-I :

The
:uﬁuc”n””& loan can be__a_ fixed
ot of funds, buy’cannc) be a

Which one
respect %E»& the following is co i
ahiove iatamants’) rrect 1n

(a) Both §
‘atement-]1 and Statement-I1
nt-11 are

Correct
s and 3
Statemeny | Statement-II  explains

(b) Both §
VS-R
MMJ.,.S.. ES:.V._ and Statement
3 nt-
s A TE s rat
no

State
5 ment.-
Vv\mssscs. nt-|

18 ingg I i ¢
Irecy rect, but Statement-11

but

33. Consi
. onsider t
he following statements in respect

It is
a soverei
ereign currency issued by the

Rese
= rve Bank of India (RBI n
gnment with its monetary policy
2 It
appears as a liability on the RBI's
balance sheet.
3. Gk .
It is insured against inflation by it= very
mm&ﬂ:..‘,
A dt_is freely convertible against

commercial bank money and cash.

Which = of the statements given above are

correct ?

(a) 1land2 only ¢

(p) 1and 3 only*
2 and 4 only *

(c)

\V\u.wwnmh

WwWith reference to
Buddha was generally known bY

following epithets ?
Nayaputta
mwnwwwu.:i 1\

v

he correct ans

¢t India, Gautama

34.
which of the

1.
2.
3.

Select t
below :
(a) 1 only

\A and 3 only

(c) -.Nwsaw

Tathagat@
e code given

wer using th

None of the above ar¢ epithets of

(d)
Gautama Buddha

KSPC-P-GSPg
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13
sm:.. Speaker of the

reference to the

Lok Sabha. consider the following statements
5?:0 any resolution for the removal of the
~

Speaker of Lok
Consideration

A

2.

the Sabha is  under

He/She shall not preside.
He/She shall not have the right to speak

3. He/She shall not be entitled to vote on

the resolution in the first instance,

Which of the statements given above is/are
Corre

(

1 only

1 and 2 only -
2 and 3 only ¥
1.2 and 34

reference to the Indian Parliament,

©r the following statements :

A bill pending in the Lok Sabha lapses
On its dissolution.

A bill passed by the Lok Sabha and
pending in the Rajya Sabha lapses on
the dissolution of the Lok Sabha.

3. A bill in regard to which the President
of India notified his/her intention to
summon the Houses to a joint sitting

the the

lapses on dissolution of

Lok Sabha.

Which of the statements given above is/are

correct ?
(a) 1 only
va.\n and 2
© 2 and 3 R
) 3 cs_v..«/
o o

456.  With reference to the Parliament of India,

consider the following statements -

1 Prorogation of a House by the President
f India does not require the advice of
the Council of Ministers. *

Prorogation of a House is generally done
after the House is adjourned sine die
but there is no bar to the President of
India prorogating the House which is in
session,

3. Dissolution of the Lok Sabha is done by
the President of India who, save in
exceptional circumstances, does so on
the advice of the Council of Ministers

Which of the statements given above is/are
correct ?

(a) ~ lonly <
(b) 1land2-

\cx\wwbmw

(d) 3only ¢

46. Consider the following statements :

Statement-I :

The European Parliament approved The
Net-Zero Industry Act recently. v

Statement-1I :
The European Union intends to achieve
carbon neutrality by 2 nd therefore aims

to develop all of its own clean technology by
that time.

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-l and Statement-1I are
correct and  Statement-1l  explains
Statement-1

(b) Both Statement-1 and Statement-I1 are

correct, but Statement-11 does not explain
Statement-1

Statement-1 is correct, but Statement-I] is
incorrect

(d

v.ntpa__-m_:._ is incorrect, but Statement-I]
1S correct

(21-D)

T AT ——



kSP

“OBsider the following

statements -
J?.:.i: nt-I :
W@nm::, Venezuela has achieved a rapid
3096..., from its economic crisis  and
Succeeded in preventing its people from

:gm:n\..::rg rating to other countries.

Sta tement-I1 -
Ven

CZuc

Which

respect

t has the world’s largest oil reservesyq

of the following is correct in
1 above statements ?

‘a) Both Statement-1 and Statement-II are

correct  and  Statement-II explains
Statement-1

(b} Both Statement-1 and Statement-II are

correct, but Statement-II not
explain Statement-I

\\WS:;E.:Z is correct, but Statement-II
1S incorrect

does

(d) Statement-I is incorrect, but Statement-II

1S correct

49,

With

reference to

the
Surakshit Matrityva Abhiyan’,
following statements

‘Pradhan Mantri

consider the

1 This scheme guarantees a minimum

package of antenatal care services to
women in their second and third
trimesters of pregnancy and six months
post-delivery health care service in any
government health facility =

Under this scheme, private sector
health care providers of certain
specialities can volunteer to provide
services at nearby government health
facilities.

Which of the statements given above iware
correct ?

(a) 1only
\9&\& only

(c)  Both1and 2

(d)  Neither 1 nor 2

50. With reference to the Pradhan Mantri Shram
Yogi Maan-dhan (PM-SYM) Yojana, consider
With reference to the Digital India r.wba the following statements :
Records Modernisation Programme, a.”o ider i e st N i Tousario il S
the following statements : n\rf# shesetieme 3 6. e
To implement the schgme, the Central p =
% . ” ing. Y, 2. Age specific contribution shall be made
Government provides _@ nding. by e beratliay.
2. Under s Hohem, Comggivel Mepe o 3. Each subscriber under the scheme shall
digitised. i & > £ T 3.000
receive a minimum pension o s
3 An initiative has been undertaken to per month after attaining the age of
’ transliterate the Records of Rights from 60 years.
local _wzn:wmmr.b%:v. cﬂ.. ..p_.:w _w“..w”wﬂmz 4. Family pension is applicable to the
recognized by the Constitution o ia. 2 d et daughters.
pouse and unmarrie: g
Which .E. Wi Matenionty given: AbovR;are Which of the statements given above is/are
correct ? correct ?
(a) and 2 only k (@ 1,3andd Y
#end Souly \\—&4\M and 3 only
(c) Yaud3only ,H (¢} 2only
(d) 1, 24043 (d 1,2and4 R
sPO (23-D)
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Consider the following statements :

Statement-1 : _ _
The atmosphere is heated more by incoming
solar radiation than by terrestrial radiatiom&

Statement-I1 :

Carbon dioxide and other greenhouse gases in
the atmosphere apf good absorbers of long
wave radiation

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-1 and Statement-II are
correct and Statement-Il  explains

Statement-1

(b) Both Statement-I and Statement-II are

correct. but Statement-II does
explain Statement-I

not

(¢) Statement-I is correct, but Statement-II

18 Lncorrect
))ﬁéutemem-l is incorrect, but Statement-II

18 correct

52. Consider the following statements :

g fatcment-] 3
' Thickness of the troposphere at the equator is
mugh greater as compared to poles.

tatement-II :
At the equator, heat is transported to great
heights by strong convectional currents.

Which one of the following is correct in

resg of the above statements ?
" Both Statement-]1 and Statement-Il are
correct and Statement-Il  explains

54. Which

Consider the following -

1. Pyroclastic debris

8 Ash and dust e

3. Nitrogen compounds
4 Sulphur compounds

How many of the above are products of
voleanic eruptions ?

(a)  Onlyone
(b)  Only two
(¢)  Only three

/u-)/ All four

of the
inference/inferences from isothermal maps n
the m

following is/are correct

of January ?

The isotherms deviate to the non%

the ocean and to the south over the
continent.

2. The presence of cold ocean currents,
Gulf Stream and North Atlantic Drift \/'
make the North Atlantic Ocean colder
and the isotherms bend towards the

north.
Select the answer using the code given below -
/:%:nly
(b) 2only
(¢) Both land?2
(d)  Neither 1 nor 2

Statement-1 55. Which of the following countries are wel)
(p) Both Statement-1 and Statement-ll are known as the two largest cocoa producers ip
correct, but Statement-1l does not the world ?
i t-1
explain Statemen (a)  Algeria and Morocco Y
I is correct, but Statement-11
(© Su-atementl 18 ‘correct, bu (b) Botswana and Namibia
is incorrect
. Cote d’Ivoire and G
& ) I — bt Giatement1l ote d'lvoire and Ghana
k. d p— (d) Madagascar and Mozambique
: 25-D)
pcP-05FO |
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va. <c=.r reference to the Himalayan rivers | 59, Consider the following information :
.wo»i:m the Ganga downstream of Prayagraj

- [
from West to East, which one of the following [Waterfall Region TRiver
Seqyerfces is correct ? [ M\\\\\

) Ghaghara - Gomati — Gandak — Kosi 1. |Dhuandhar |Malwa | Narmada
(b)  Gomati — Ghaghara — Gandak — Kosi . + \Ill_mm\x
(e) Ghaghara - Gomati — Kosi — Gandak 2. |Hundru , Chota Subarnare
(d)  Gomati - Ghaghara - Kosi - Gandak “Znnvcw | - .\IQ\
3. |Gersoppa Western Netravati
57. Consider the following statements : _C:som | e

Statement-I - In how many of the above rows is the given
Rainfa]] ﬁ&\ of the reasons for weathering

of rociks infoghation correctly matched ?
TOCKS.
Statement-11 : Qnly:que
Rain water contains carbon dioxide in (b) Only two
solution. ~
(c) All three
Statement-111 : o\
Rain water contains atmospheric oxygen. @ | None
Which jone of the following is correct in
respeft of the above statements ?
( Both Statement-II and Statement-IIT
are correct and both of them explain o ;
Statement-I 60.  Consider the following information :
(b) Both Statement-II and Statement-III ﬁ [ Regiane | Name of the Type of —
are correct, but only one of them R e S
explains Statement-I f oo
(¢) Only one of the Statements II and III is T. Central |Vosges Fold mountain | X
correct and that explains Statement-I Asia
(d) Neither Statement-II nor Statement-III TI Europe |Alps Block X
is correct | mountain
. : . 3. [North | Appalachians | =
| B58. Ooﬂm—“ﬂh?w&?:oi:ﬂm countries : . et ppalachians ' Fold mountain ;
1, ke T i e
. Andes Fold m. =1
2. Germany ..\ M Ty:..mlnm ounsan |

N - el b
. 4. Russia In how many of the above rOwS is the given

How many of the above countries have a information correctly matched ?
porder with the North Sea ? (a)  Only one

@ nly one E.w two
Only two

(c) Av-——Q three

(@ Onlythree Al four
All four
@ - (27-D)
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1,
ﬂ The organisms “Cicada, Froghopper and Pond

sk 84. Consider the following statements regarding
ater” 5 2
\rjva.o : World Toilet Organization :
4 . 3
Jﬂ Birds 1. It is one of the agencies of the United
\ (b)  Fish Nations. M
h ) Insects 2. World Toilet Summit, World Toilet Day
. (d)  Reptil and World Toilet College are the
g initiatives of this organization, RH
Jonsi inspire action to tackle the globa
.,m “enmter fs Sl wiatonssiic: uh:-.“_ﬁ:o: crisis.
State o !
(\A&. : ~.E<: ~.. . 3. The main focus of its function is to grant
ooM“waM”M% ok w.n $is aarkbl dre funds to the least developed countries
m > i . .
pollution. sies 4 (enyiosmentl and developing countries to achieve the
end of open defecation. v
Statement-11 : A
g ia.w:.: ~ : ; Which of the statements given above ig/are
Many chewing gums contain plastic as gum 5
base. correct ?
Which one of the following is correct in (a) 2only
respeft of the above statements ? \Fw\w\ou_w
Both Statement-I and Statement-II are (¢) land2%
correct and Statement-II  explains
Statement-I (d) 2and3
by Both Statement-I and Statement-II are
correct. but Statement-II does not explain
Statement-I 65. Consider the following statements :
(c) ME?:X:E is correct, but Statement-II is 1. PPTions et hiave & particular bresding
incorrect PR
(d) Statement-I is incorrect, but Statement-II %
is correct 2. Unlike most other big cats, cheetahs do
not roar.
i following pairs :
63. Oo:!%ln the g paire T — |
=T Animal found in its w malg _=.5m. male leopards do not
Country  natural habitat proclaim _ their territory by  scent
,W‘HW-.‘NN: Indri n.’))ﬂf” o BE.E-—N. I? l-\ evon tU’O
|2 —T==
donesia Elk G woree 3 .
'VN....,\E ones = H.mw.‘ﬂ-cg.ﬂ‘ Which of the statements given above are
_yu. _zlm%ﬁwmawnn s = correct ?
8 i iven above are
How maty cMoM—wm prnie 1 and 2 only
nc:.@aﬁz mate ?
) Only one (b} 2and3only o
(b Only two (¢ land3only g
@) e @ 1,2and3 y
( None
(29-D)
[0}
c-P-05°
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66.  wh;
ich one of the followi
OWIng e
g Bt € 1s the correct

“100 Million Farmers” 9

It is a platform for

N accelerating the
transition

towardsg food andg water

that are net-zero (carhon),
nature-positive ang that to

mcerease farmer resilience.

Systems

aims

=4

(b) It is

an ainternation

al alliance and a
network of

individuals and farming
inisations interested in supporting
and strengthening the development of

the organic anima] husbandry. |

org:

(e) It is a digital platform fully integrated

with service providers and built on
blockchain that lets buyers, sellers and

third parties trade fertilizers quickly
and securely. +

(d) It is a platform with the mission of

encouraging the farmers to form Farmer
Product Organisations or Agribusiness
Consortiums, thus facilitating the
access to global open markets to sell
their products.

67. Consider the following :
i 1 Battery storage
2. Biomass generators
3. Fuel cells | |
4 Rooftop solar photovoltaic units

of the above are considered
How many s
«Distributed Energy Resources
(a) Onlyone
(p) Only two
(¢) Only three
//(a)/All four
kspC-P-GSPO

-

. unique
68. Which one of the following shows 2 evolved
relationship with an insect that has cO

. at can
with it and that is the only insect th
pollinate this tree ?

3
(a) Fill+ z&‘::\‘"
(b) Mahua
(¢) Sgndalwood

( Silk cotton gt

69. Consid e following :
A:m rflies
24;:

How many of the above have poisonous
species among them ?

(@) Only one
(b)  Only two

))/Al;‘ three
(d) None

70. Consider the following :
1. Cashew
2. Papaya
3. Red sanders

native to India ?
(a)

(b)

Only one

Only two

(c) | three
None

(31-D)
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71. Consider the following airports
1. Donyi Polo Airpory
2. i

Kushinagar —:2...::::::_ Airport
.-.W. ySe ”, >

Vijayawada —::.1:::35:. Airport

1
n the recent Past, which of the above have

s Greenfielq projects ?
al 1and 2 only

2and 3 only

¢ _¥and 3 only
4 1.2and3
/

72. With reference to “w

ater vapour”, which of the

HLV—.EN statements is/are correct ?
It is a gas. the amount of .which

decreases with altitude.

2: Its percentage is maximum at the vo_mn_T

Select she answer using the code given below :
1 only

2 only

Both 1 and 2

Neither 1 nor 2

(b)
(c)

(d)

73. Consider the following description :

1. Annual and daily range of temperatures
is low.

Precipitation occurs throughout the year.
Precipitation varies between

50 cm — 250 em.

What is this type of climate ?

(a) Equatorial climate [ S *

(b) _China type climate Y& %

mid subtropical climate

F < f.?WV‘ \u
Marine West coast climate w A

C

74.

75.

"

With reference to “Coriolis force”, which of the

following statements is/are correct ?

1. It increases with increase in wind velocity:

2. %1 poles and is absent

Select the answer using the code given helow

It is maximum

at the equator
(a) 1lonly
2 only

\K\ Both 1 and 2

(d) Neither 1 nor 2

On June 21 every year, which of the following
latitude(s) experience(s) a sunlight of more
than 12 hours ?

1
2.

L\\

Select the correct answer using the code given

Equator

Tropic of Cancer

Tropic of Capricorn
Arctic Circle g a3\

below : fym
. MR G hpote &Y
(b)  2only PR - AC

(c)

3 and 4 ’r
m:nn*

76. One of the following regions has the world’s

— —+»=.

largest tropical peatland, which holds aboyy
three years worth of global carbon emissiony
from fossil fuels; and the possible destruction
of which can exert detrimental effect on the
global climate. Which one of the ?:ci:i

denotes that region ?

Amazon Basin
(b)  Congo Basin
()

)

Kikori Basin

Rio de la Plata Basin

(33-D)




77. With reference to perfluoroalkyl and | 79. Consider the following plants
polyfluoroalkyl substa
) 4 nces (PFAS) that are 1 Groundnut
used in making many consumer productg,
consider the following statements : % Horse-gram < > » o qon ¢
1 PFAS : . 3. Soybean «ioﬁ.s‘ foll
! AS are found to be widespread in ;
drinking t.s:r,u«\\ooa and food packaging How many of the above belong to the pea
= 4.}7 X et
(Mmateria family ?
2, PFAS are not easily degraded in the \v;q.:a
environment r\ (b) O:_v. two
3. Persistent exposure to PFAS can lead to (¢) _ All three
bioaccumulation in animal bodies.
. (d) None
Which of the statements given above are
correct 7
(a) 1and2only
80. Consider the following statements :
(b) 2 and 3 only
(©) Yand § only Statement-I :
The Indian Flying Fox is placed under the
H. 2 and 3 “vermin” gs&oq in the Wild Life
(Protection) Act, 1972. @
Statement-11 :
: The Indian Flying Fox feeds on the blood of
78. Consider the following :
¢ other animals. d?.vy/\v A \@oY .
1 Carabid beetles
¢ Which one of the following is correct in
s
B Centipede respect of the above statements ?
3. Flies (a) Both Statement-l and Statement-1l are
4 Termites correct  and  Statement-Il  explains
” Wi Statement-1
Parasitoid species are found in how many of (b) Both .J...z..c.:c.:.__ and Statement-1l yre
o ahaikind of organisms ? nc:.s»..r but  Statement-ll  does nog
explain Statement-|
Only two
(a) y (¢) Statement-l 1s correct, but Statement-[|
(b) Only three 15 1Incorrect
(¢) ly four l.\!A::a:E:.. L 15 incorrect, but Statement-[]
All five 18 correct
(35-D)
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Bl. The total fertili
ity rate in an  ec i
*conomy 18
defined as - %

(a) the number of children hor

n per 1000
people in the

Population ip g year,

the number of children born to :%Q.
in their lifetime in ;

(b)

a given population.

(¢)  the birth rate minus death ::m.,
the average number of live births a

woman would have by the end of her
child-bearing age.

82. Consider the following statements

1. In Non-Banking  Financial
Companies can access the Liquidity

India,

Adjustment Facility window of the
Reserve Bank of India. ®

2/ In India, Foreign Institutional Investors
can hold the Government Securities
(G-Secs).

; India, Stock Exchanges can offer
separate trading platforms for debts.

; e
Which of the statements given above 1

correct ?

(a) 1and2only y

(b) 3only %

(¢) 1,2and3

2 and 3 only

In India, which of the following can trade in

oY)
Corporate Bonds and Oo<m_.=-/=¥wnn::=mm y

1. Insurance Companies
2. Pension Funds /\

3. Retail Investors

Select the correct answer using the code given

below :
(a) 1and2only
(b) 2and 3 only
(c) ~ 1and 3 only

1,2and 3

84. Consider the following :

“ Exchange-Traded Funds (ETF)

2. Motor vehicles %

3. Currency swap oy be 9.%7:(&1

Which of the above is/are considered financig]
instruments ?

\5\:5?

(b)  2and3only

) 1,2and 3 ¥

(d) landg only

(37-D)
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85. With reference to the sect,

Ors of the Ingj
€conomy, consider the wo:oi:w pairs : =
. LMQSQS:. na::_Q o .,wQQQ.
m::.mmm of wmjo:_ns_.m_ .fm?.o
. E.omcom o ™
7&92 2. Dairy farm , . f\
hy ) Primary
?ﬁ, 2 T
' 3. Mineral exploration :a i
% il ertiary T
1. Weaving cloth Secondary v
How many of

the pairs given above are
correctly matched ?

tal

Ogly one

Only two

(c)

Only three

(d) All four

86. Consider the following BwSiw_/m"\
1 Agricultural residues

A

Wastewater treatment sludge e

Corn grain

oiv/&

sort o &
Wood mill sﬁ:)\“ e

e can be used as feedstock
able Aviation Fuel ?

4.

Which of the abov

for vaﬂ—cag mf—msg
(a) land2 only
(b) 3and4only *

\E\u.m.wwbn:

@ 1,3andsonly ¥

(39-

KSPC-P-GSPO
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87. With reference to physical capital in Bl
economy, consider the following pairs :

_ Items Category
1. |Farmer's plough Working capital %(
2. |Computer Fixed capital '\
3. |Yarn used by the Fixed capital b 4
weaver . izl
,..»|l~um:o_ Working capital l\
How many of the above pairs are correctly
matched ?
(a)  Only one
\E\o_% two

(c) Only three
(d) Al four

88. Which one of the following words/phrases is
most appropriately used to denote “anp
interoperable network of 3D virtual worlds
that can be accessed simultaneously by
millions of users, who can exert property
rights over virtual items”
(a)  Big data analytics -y
(b)  Cryptography

\\Zcpmé..uc

(d)  Virtual matrix

D)

e



89.

\L&\z%ue. 1 nor 2

the Reserve Bank

, of India
foreign  banks, consider while treating
statements : the following
) 12 There s @
requirem minimum capital
ent m.O-. 570__% owned Uﬂq—f.
ing

subsidiaries in India

+*

owned bankip
in India, at least 50%

2. For wholly
& subsidiaries

of the board
members should be Indian nationals. ¥~

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1land2

Neither 1 nor 2

92.

With  reference to Corporate mo.&w_

Responsibility (CSR) rules in India, consider

the following statements :

1. CSR rules specify that wxumnms“.p“”
that benefit the company a_aaw_wm oomw
employees will not be considere
activities. Y~ N

specify minimum

2. CSR rules do aon. .v.»“ Ay
spending on CSR activities: ’

; pove is/aré

Which of the statements given 2

correct ?

(a) 1lonly

(b) 2only

(¢y Bothl and 2

(41-D)

KSPC.p-GSPO
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With reference to radioisotope the ;
following

generators (RTGs), consider the

stgtements :
(N. RTGs are miniature fission reactors.
\ RTGs are used for powering the onboard
systems of spacecrafts.

3. RTGs can use Plutgnium-238, which 13
a by-product of weapons develo

Which of the statements given above are

co 2
1 and 2 only
()  2and 3only R
(¢ 1and 3only
(d 1,2and3

Consider the following statements :

Statement-I :
Giant stars live much longer than dwarf stars.x¢

Statement-II :
Compared to dwarf stars, giant stars have a
greater rate of nuclear reactions. l\

Which one of the following is correct in
respect of the above statements ?

(a) Both Statement-I and Statement-Il are
correct and Statement-II

Statement-I

explains
(b) Both Statement-1 and Statement-Il are
correct, but Statement-11
explain Statement-1

does nog

(¢) Statement-l is correct, but Statement-]]
is incorrect

Statement-1 is incorrect, but Statement 1
18 correct

“ !
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Wing -
human body that n:w»a“ﬁ 'S Synthesigeq ”
increaspe blood flow - blood Vessels ang 1. Controlled drug delive

96. In which of the following .

'\
N TOus i i i y ms
€at . 2 Mobile B:..A.Q—-Q:-Q::.-N gyste \c\
5q;. . _... 5 i ial _Svlﬁwﬂ_nh
3 Pr qz.ﬂbzcz Cn.:-ﬂ_coapﬂ_m- )
o . ~ e .A lect the correct answer :m:._n the ¢ gl
oxid oelect Lhe &m ven
.0' mﬂ ‘ — m _Jm-_:s b

(a) 1only
(b) 1and 2only
(¢) 2and 3only

i 1,2and 3

(d) Nitrogen Pentoxide

. Corsider the followin R B ;
" \..w: o Aesiviti 97. Which one of the following is the o.nrmcmn. pipe
/. 5 . i ; Cell Electric Vehicles,
1. Identification of narcotics on passen emission from Fuel i €
at airports or in aircraft e powared DY grogen ..
o (a) Hydrogen peroxide
Monitoring of precipitation (b) Hydronium
Tracking the migration of animals (c) Xygen
Water vapour
In how many of the above activities can the “)
radars be used ? 98. Recently, the term “pumped-storage
hydropower” is actually and appropriately
(a) Only one discussed in the context of which one of the
following ?
(b)  Only two (a)  Irrigation of terraced crop fields
\\P: three (b) _Lift irrigation of cereal crops
Long duration ene sto
(d) None @ eage

Rainwater rm_.cmwn:m system

are
ircraft : in the context of : e discusseq
i llowing al § .
%.  Consider the fo 1 (a)  Assisted reproductive technologies
1. Rafael (b) Drug delivery nanotechnologies
2. MiG-29 T ) Yaeeine production technologies
. _- M«t\ Wastewater treatment technologies
& 2 b ) 7
3. ‘H;O.ug zx noammmﬁﬂm& 3?7 100. With -.ﬁ?.-.»u-:.p. to the Indj
the above are “Collateral Borrowi lan €Conomy
How many of .\ Obilleiti it wing  ang Y
ion fighter aircraft * 1gations” are the INStruments of - Saing
generation g e

(a)  Bond market

(a) Only one (h) ‘orex market %
(b ly two Moaey market
) Only (d)  Stock market
(e) 1 three
(43-D)
) None
"Skcp.gspo
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